

## Letzte Notizen zur Ann 2:

$$f(\alpha) := \int_0^1 \cos(\alpha x) dx, \quad f'(1) = ?$$

$$f'(\alpha) = \frac{d}{d\alpha} \int_0^1 \cos(\alpha x) dx = \int_0^1 \frac{\partial}{\partial \alpha} \cos(\alpha x) dx = - \int_0^1 x \sin(\alpha x) dx$$

$$u(x) = x \quad v'(x) = \sin(\alpha x)$$

part. I

$$= +x \cdot \frac{1}{\alpha} \cos(\alpha x) \Big|_0^1 - \int_0^1 1 \cdot \frac{1}{\alpha} \cos(\alpha x) dx = + \frac{1}{\alpha} \cos(\alpha) - \frac{1}{\alpha^2} \sin(\alpha).$$

$\left. \begin{array}{l} \bullet \cos(\alpha x) \text{ ist stetig auf } [0, 2] \times [0, 1] \checkmark \\ \bullet \frac{\partial}{\partial \alpha} \cos(\alpha x) \text{ ist stetig } \checkmark \end{array} \right\}$

$$\bullet f(x+\xi) = f(x) + A \cdot \xi + \varphi(\xi), \quad \text{z.z.: } \frac{\varphi(\xi)}{\|\xi\|} \xrightarrow{\xi \rightarrow 0} 0$$

$$\bullet f(z) = f(a) + \underbrace{A}_{Df(a)} \cdot (z-a) + \varphi(z-a)$$

$$\text{z.z.: } \frac{\varphi(z-a)}{\|z-a\|} \xrightarrow{z \rightarrow a} 0$$

Bsp:

$$f: \mathbb{R}^2 \rightarrow \mathbb{R}^1, \quad f(x, y) = x + 2xy^2, \quad a = (1, 2)$$

Beh.:  $f$  ist total diff'bar in  $a$ , und

$$Df(x, y) = (1 + 2y^2, 4xy), \quad \text{also } Df(1, 2) = (9, 8).$$

Bew.: Für  $z$  nahe  $a$  gilt:

$$f(1, 2) = 1 + 2 \cdot 4 = 9$$

$$f(z) - 9 = (9, 8) \cdot (z - (1, 2))^T =: \varphi(z-a), \quad z = (x, y)$$

$$\text{Nun: } \frac{\varphi(z-a)}{\|z-a\|} = \frac{x + 2xy^2 - 9 - (9, 8) \cdot (x-1, y-2)^T}{\|(x-1, y-2)\|}$$

$$= \frac{x + 2xy^2 - 9 - 9(x-1) - 8(y-2)}{\|(x-1, y-2)\|} \quad \text{usw.}$$

$$\|(x-1, y-2)\| = \max\{|x-1|, |y-2|\} \rightarrow 0$$

$\leadsto x \rightarrow 1 \text{ und } y \rightarrow 2$

Beh.:  $4x^3y^2 = o(|xy|^2)$

Bew.:  $\frac{4x^3y^2}{|xy|^2} = 4 \cdot \frac{x^3}{|x|^2} \cdot \frac{y^2}{|y|^2} \xrightarrow{x, y \rightarrow 0} 0$

$\underbrace{\quad}_{\rightarrow 0} \quad \underbrace{\quad}_{\substack{\pm 1 \\ \text{besch.}}}$

$x \neq o(|x|^3)$ , denn  $\frac{x}{|x|^3} = \frac{x}{|x|} \cdot \frac{1}{|x|^2} \text{ div. } \lim_{x, y \rightarrow 0}$

$\underbrace{\quad}_{\pm 1} \quad \underbrace{\quad}_{\rightarrow \infty}$

Bsp.:  $f: U \rightarrow \mathbb{R}^1, U \subseteq \mathbb{R}^2$

$$f(x+\xi) = \sum_{|\alpha| \leq k} \frac{D^\alpha f(x)}{\alpha!} \xi^\alpha + \sum_{|\alpha| = k+1} \frac{D^\alpha f(x+\theta\xi)}{\alpha!} \xi^\alpha \quad \leftarrow x \text{ ist Entw.-punkt}$$

Vor.:  $\forall t \in [0,1]: a + t(z-a) \in U$ .  $\alpha \in \mathbb{N}_0^n \leadsto |\alpha| = \alpha_1 + \dots + \alpha_n$

Bew.:  $f(z) = \sum_{|\alpha| \leq k} \frac{D^\alpha f(a)}{\alpha!} (z-a)^\alpha + \sum_{|\alpha| = k+1} \frac{D^\alpha f(a+\theta(z-a))}{\alpha!} (z-a)^\alpha$

•  $|\alpha| = 0 : \alpha = (0,0)$

•  $|\alpha| = 2 : \alpha = (2,0), (1,1), (0,2)$

•  $|\alpha| = 1 : \alpha = (1,0), \alpha = (0,1)$

•  $|\alpha|=0$ , d.h.:  $\alpha=(0,0)$ :  $f(a)$

•  $|\alpha|=1$ ,  $\alpha=(1,0)$ :  $\frac{D^{(1,0)} f(a)}{(1,0)!} (z-a)^{(1,0)} = \frac{D_1 f(a)}{1! \cdot 0!} \cdot (z_1 - a_1)^1$

$\alpha=(0,1)$ :  $\frac{D^{(0,1)} f(a)}{(0,1)!} (z-a)^{(0,1)} = \frac{D_2 f(a)}{1} \cdot (z_2 - a_2)^1$

•  $|\alpha|=2$ :  $\alpha=(2,0)$ :  $\frac{D^{(2,0)} f(a)}{(2,0)!} (z-a)^{(2,0)} = \frac{D_1^2 f(a)}{2! \cdot 0!} \cdot (z_1 - a_1)^2$

$\alpha=(0,2)$ :  $\frac{D^{(0,2)} f(a)}{(0,2)!} (z-a)^{(0,2)} = \frac{D_2^2 f(a)}{2! \cdot 0!} \cdot (z_2 - a_2)^2$

$\alpha=(1,1)$ :  $\frac{D^{(1,1)} f(a)}{(1,1)!} (z-a)^{(1,1)} = \frac{D_1 D_2 f(a)}{1! \cdot 1!} \cdot (z_1 - a_1) (z_2 - a_2)$

Also:

$$f(z) = f(a) + D_1 f(a) \cdot (z_1 - a_1) + D_2 f(a) \cdot (z_2 - a_2) + \frac{D_1^2 f(a)}{2} (z_1 - a_1)^2 + \frac{D_2^2 f(a)}{2} (z_2 - a_2)^2 + D_1 D_2 f(a) (z_1 - a_1) (z_2 - a_2) + \text{Rest}$$

Satz von Schwarz:  $f: U \rightarrow \mathbb{R}$ ,  $U \subseteq \mathbb{R}^2$ ,  $z_x$  stetig diff

$$\Rightarrow \forall 1 \leq i, j \leq n: D_i D_j f(x) = D_j D_i f(x)$$

für alle  $x \in U$

Bsp:  $f(x,y) = (\sin x, y + x^2 \cos y)$

$$f(x,y) = x^2 y + y, \quad x = x(t) = \sin t, \quad y = y(t) = 1 + t \cos t$$

$$g(t) = f(x(t), y(t)), \quad t=0 \rightsquigarrow x(0)=0, y(0)=1$$

$$g'(0) = \left. \frac{d}{dt} f(x(t), y(t)) \right|_{t=0} = D_1 f(x,y) \cdot x'(0) + D_2 f(x,y) \cdot y'(0)$$

$$= 2x(0)y(0) \cdot \underbrace{\cos(0)}_{=1} + (x(0)^2 + 1) \cdot \underbrace{(\cos 0 - 0 \sin 0)}_1$$

$$= 0 + (0+1) \cdot 1 = \underline{\underline{1}}$$